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A player has a batting average of .356 (35.6%).
How many hits can we expect after 30 attempts?
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Is the chance of getting a hit for each
at bat independent of one another?
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Tom's batting average is .256. Out
of 200 at bats (attempts), how many
times can we expect him to get out?
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Dave's batting average is .237. What are his odds of two hits in a row?
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A goalie has a .913 save percentage
(91.3%). After 47 shots, how
many saves are expected?
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Save percentages
and batting averages
are examples of...
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A goalie has a .934 save percentage,
how many goals against would we
expect after 2483 shots on net?
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Carey Price (goalie) has an all time save percentage
of .917, with 20911 shots against. How many saves?
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A friend has chosen 2 different #'s between 1 and
10. What is the chance that you correctly guess both?
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There's a 70% Chance of Rain on Sat, 80% chance of rain on Sun. P(Rains on both days) = ?
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There's a 70% Chance of Rain on Sat, 80% chance of rain on Sun. P(No Rain at all) = ?
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Mr. Samson buys 2 lottery tickets where there
is 10% winning tickets. P(2 winning tickets) = ?
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Mr. Samson buys 2 lottery tickets
where there is 10% winning
tickets. P(2 losing tickets) = ?
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After 40 spins, how many times would I expect to land on an odd #?
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If spun twice, what are the chances of getting a 1 and then a 5 in a row?
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After 1 spin and rolling an 8 sided die,
P(spinning a blue AND rolling a 7) = ?
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Which of these #'s cannot be a probability?
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Pick a number from 1-20. What are the
chances the number is an even number OR a 97
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Pick a number from 1-100. What are
the chances the number is less than 512
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